PRINTED ARCH E1 30" x 42"

DESIGNER / BUILDER

o .. o .. 0 . > .. °/ ARCO
— ]

e — — 1!_6"
EQUAL EQUAL EQUAL EQUAL . PLATE 1/2'x24'x3-0" 1 -y DESIGN/BUILD
; L m -6" " ~ 0:
w 6" MIN. = |z
NOTE: SPRINKLER CONTRACTOR d %’ J ] THIS S 9 £ We = 132 of
STEEL FABRICATOR TO VERIFY W/ SEE ELEVATION FOR LOCATION Ox. ‘ SIDE ® | Ok
SPRINKLER CONTRACTOR. | ‘ - 32 3/16 ONLY ) 44 SOUTH BROADWAY, SUITE 1003
@ TOP OF STEEL BEAM PER PLAN —+— BEAM PER PLAN I 516 r ' 1 ] N WHITE PLAINS, NY 10601
EL- VARIES TH— . o e s [—2 5/16 |3 SIDES P:914.821.5535  F:914.306.6010
H 4 ! W, = 116 plf -914.621. + 914.506.
_ \\ _ DL j\
2 N {\
W S o 4 1/2"@ HOLE (MAX.) WF OR TUBE —“ﬁw \ * * * + % * * * * % * ‘ A D B
< \ i
n Slu / W COLUMN BELOW =z
| 2 O V. 3N i = PLATE 1/2'x5"X0"-10" ‘ [ STRUCTURAL
\$43 /2 gz7 ) z =g w 2 INSTALL TIGHT TO ‘ ‘ ENGINEERING
= o= 2 \843/ i z o & \ LARGE PLATE BN
« 717 z 2% E z © (DO NOT WELD) | PROJECT TITLE
o [a T | I
- ¢ - : TYPICAL SPRINKLER HOLE g - : - oC
D Ny o) i Q % _ WALL 30 K S P 1 GIRDER R KLAN D
<Z( o 7, o 8 m » OR
g o ¢ COLUMN LOGISTICS
o /7 = 5 SCALE: NONE
L X N L
& / SCALE: NONE DETAIL BOOK REF. ® (55 DO NOT ATTACH C E N T E R B L D G 1
NOTE: SPRINKLER CONTRACTOR SHALL REVIEW AND APPROVE S312N ® DECK TOTLATE
1 ¢ N SLIP SIDE.
'S - LAYOUT ON STEEL SHOP DRAWINGS. 172712023 % ONSLIP S B SEE PLAN - 25 OLD MILL RD.
[ a0\ opp m P _— 1/4"x4"x8" PLATE (TYP.) e SUFFERN, NY 10901
HAND " " v " ]
N2/ @ o II:I)\ILéA'I-'rPI\ELl/'ZI'I)C(;sH)'(I'OTg)O “ i @
: L OWNER
Q 4= o
% 5/16 ngﬁ%_?';/og&) 5|52 BROOKFIELD PROPERTIES
= ( ) 235 Wa. = 248 pif 1 MEADOWLANDS PLAZA, SUITE 802
5/16 THIS 2K \ EAST RUTHERFORD,NJ 07073
“wn
SIDE !
ONLY / 3/16
NOTE:
| | PER PLAN F | | | COLUMNS @ EXPANSION oL p ADB / DESIGN SERVICES LLC
y A y \ y \ JOINT UN.O. 44 SOUTH BRé)ADWAY, SUITE 1003
1 7 7 7 3 % * % i % WHITE PLAINS, NY 10601
DETAIL AT EXPANSION JOINT ‘ N
SCALE: NONE DETAIL BOOK REF. AN DYNAMIC ENGINEERING CONSULTANTS
$3.13-N - P 1904 MAIN STREET
NOTES 8/24/2023 m | | LAKE COMO, NJ 07719
. | |
. < L |
—_— A S H E/ \I { P L/ \TE DETAIL BOOK REF.
1. FORCES SHOWN ARE DESIGN SERVICE LOADS (0.6 W OR 0.7 E). 299N WALL 30 K S P 2 CIROER STRUCTURAL ENGINEER
SCALE: NO SCALE '
2 CONNECTIONS SHALL BE DESIGNED FOR FORCE INDICATED ON ELEVATION. S4 .1 8/24/2023 - COLUMN ADB STRUCTURAL ENGINEERING
3. ALL BOLTED CONNECTIONS SHALL BE "SLIP-CRITICAL" CONNECTIONS. SCALE: NONE 325'S. ALABAMA ST, SUITE 200
4, EACH MEMBER'S CONNECTION SHALL BE SYMMETRIC ABOUT THE CENTER OF 5 112" DIA. A325 BOLTS O INDIANAPOLIS, IN 46204
GRAVITY OF THAT MEMBER. CENTERED IN SLOTTED HOLE. SLIP SIDE EIXED SIDE O O
" HAND TIGHTEN, THEN BACK SEE PLAN
3/8" CAP PLATE - SFPSPE | PR SE  e -
OFF 1/4 TURN AND TACK 2»;&; ‘I:I:;ATE PER DETAIL - - MECHANICAL ENGINEER
3/8" CAP PLATE WELD NUT TO BOLT. : B 10-9" N NATIONAL DESIGN BUILD SERVICES
W CAP PLATE PER DETAIL 2 1/2" _ . = 11840 BORMAN DRIVE
NS/FS CAP PLATE PER DETAIL A/ S41 4" SLOTTED HOLES IN JOIST NS/FS AT E.J. i MARYLAND HEIGHTS, MO 63146
5/16V 7 A/S43 3/4" SEAT PLATE SHOE. JOIST SEAT SHALL b 1/4 V 51/2 AFTER BOLTING E (U;
o X
HAVE 1%" MIN. EDGE DISTANCE =& <
Y FROM EDGE OF SLOT 1 —~_~ | 32 o We, = 341 pif ELECTRICAL ENGINEER
FXB ENGINEERING
Z
/A \ s JST. BRG. EL. @ o Il s JST. BRG. EL. @ 7 S 7 T \ '] JST.BRG.EL. |0 7 \ | 5CHRISTY DRIVE, SUITE 307
b ’:[}“ ° PER PLAN ol gf o PER PLAN I I| PERPLAN S S S SO S S CHADDS FORD, PA 19317
s ‘ - - LF —+HH Mh ,.J .
O o
<20 i o © H=F =1 O 5%5 e |-§|5 W, = 116 pif
L I
» gé 1 © © A T © » %2 ;} o \ PLUMBING ENGINEER
10 T ©>\ © T T © bl &4 ‘£ @E * * * + % * * * * % * MCCARTHY ENGINEERING
A | il 2500 E HIGH STREET, SUITE 630
H © \ O H - )
— — POTTSTOWN, PA 19464
JOIST SEAT MIN. JOIST SEAT MIN. JOIST SEAT MIN.
6" LONG. | > il 7" LONG. 6" LONG. ‘ ‘
L 8xBx1/2 (x COLUMN i (2) L4x4x7/16" WITH (2) LAx4x1/2" WITH T
x8x1/2 (x 3/ s 6) %" & A490 BOLTS L 8x8x1/2 (x COLUMN L 6x6x3/8 (x COLUMN FIRE PROTECTION ENGINEER
WIDTH - 1") WITH (6) 7" @ A490 BOLTS 5/16 €)% WIDTH - 1%) WITH WIDTH - 1") WITH S.A. COMUNALE
3/8" STIFFENER PLATE COPE BOTTOM FLANGE AS REQ'D 3/8" STIFFENER PLATE 3/8" STIFFENER PLATE 2900 NEWPARK DRIVE
1/4 BARBERTON, OH 44203
JOIST GIRDER SEAT PER / DETAIL BOOK REF. 174 WALL 30 K S P 3 GIRDER
JOIST GIRDER SEAT PER PETAIL 98 100N 841 18/32';/12023 CO(I?SMN
— DETAIL BOOK REF. , ———— JOIST GIRDER SEAT PER
DETAIL 9 & 10 ON S4.1 COLUMN PER PLAN S3.11 COLUMN PER PLAN \ DETAIL 9 & 10 ON S4.1 SCALE: NONE
112712023 COLUMN PER PLAN O O
SEAL
BRACE BEAM TO WIDE FLANGE BRACE BEAM TO WIDE FLANGE JOIST TO WIDE FLANGE . .

/7“1 \COLUMN CONNECTION - 1 SIDE /"2 \COLUMN CONNECTION /"5 \COLUMN CONNECTION - 1 SIDE

WSCALE: NO SCALE W SCALE: NO SCALE WSCALE: NO SCALE
We, = 292 pif
Q I I B I R R

/L

W, = 65 plf
ALIGN W/ CENTERLINE BRACE & ——— ——— ALIGN W/ CENTERLINE BRACE &
FLANGE INTERSECTION FLANGE INTERSECTION P 1 Y 1T Y Y
3/8" STIFFENER PLATE
(3/16" FILLET WELD) KEY PLAN
| fwe N (1) (28)
T | | TUBE PER ELEVATION o
1" PLATE (SLOT TUBE AT GUSSET) | | (A)
_ _ _ _ < | |
WALL GIRDER
30K SP4 oR
COLUMN
SCALE: NONE
¥ 3/8" STIFFENER PLATE =~ —— (N)
v ALIGN W/CENTERLINE BRACE

Ay / ERECTION PIN & FLANGE INTERSECTION
SIE: (3/16" FILLET WELD) N
o X _ ERECTION BOLT

] % P ORPIN @Z @
77)‘ // b N Y 2 _ n

JT() 4 NG 1" PLATE TRUE PROJECT

.// // WP, NORTH NORTH
7
7
V Va2 ~———— COLUMN PER PLAN
2 3 SUBMITTALS
D
: NO. DATE DESCRIPTION
TUBE PER ELEVATION ETAIL BOOK REF. 11-29-23  75% PROGRESS SET

BRACE BEAM BRACE COLUMN
/"3 \TOP CONNECTION /7“4 \CONNECTION

W SCALE: NO SCALE W SCALE: NO SCALE
Q BASE PLATE O

® 3 1"x18"x1'-6" @ HSS12x12 O
> % BASE PLATE COLUMN PER PLAN
FINISH FLOOR o™ Ny COLUMN y 2"x24"x3'-2" 5
TOPOFSLEEVE / & ¢ = PER PLAN ; &
| > & "
© 4 2 ][ X o 1/2"x4"x4" PLATE L\ ] / ] |
- ‘ f WASHER (TYP.) *
4 - O ! . PROJECT NO. DRAWN BY
] (4) - 3/4"Dx1"1 1/2" ANCHOR 2" EACH >—Vj B & ﬁEL AS397-22 | NY154 | SEI-085-23 Jwe
= BOLTS (F1554 GR 36) o & ' SIDE 3/16" . Y
W/ HEX NUTS TOP % (4)- 1 1/4°3 x 3-0" & SHEET TITLE
& BOTTOM =
= ANCHOR BOLTS ASTM F1554 N N+
: 5 11/2" 11/2" S |  (GR105) W/ HEX NUTS {o—fol—Hel y STRUCTURAL
= % 5 — = — = - TOP & BOTTOM % DETAILS
= o o | " n
5 ﬁ ﬁ, ﬁ:[ 212" _| 2172
ELEVATION PLAN | & \ 2w
&N VERIFY

TYP I CAL TU B E CO L U M N DETAIL BOOK REF. w w SHEET NO.

BASE DETAIL W/SLEEVE s TYPICAL WIND BRACE -

SCALE: NONE CO L U M N BAS E D ETA' L 3/12'2/%-(2\123 S4 3

SCALE: NONE

NOTE:
1. E.O.R. TO VERIFY INFORMATION FOR EACH PROJECT.




